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2 users, |load average: 8.688, 6.068, B.88

8 stopped,
[6. 63wal,
7180688k free|
16777212k free,

[rootE@localhost ™]# top

top - 11:16:11 up & days, 23:23,
Tasks: 141 total, 1 running, 148 sleeping,
Cpu{s): [B.0%us], [B.1%sy|, ©.6%ni, 99.9%id,
Mem: [8193176k total], [1812488k used]
Swap: 16777212k total, 8k used,
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CPU(s)
us : AFXI7L AH2EQ CPU A (FR)
sy : A|AHEI0] AFEEQI

wa: YEH [7|F5¢Q HUAZFHDD #H, 52)

Mem
total : & M 22|
used : AFEF Q!

free : AMF2 7t
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B:08.13
B:81.45
B:00.00
g:p68.M
B:00.83
B:00.00
B:08.28
B:06.89
B:00.00
B:00.04
B:808.24
B:00.83
B:00.00
B:00.00
B:88.25
g:p68.18
B:00.00

8 zombie
B.8%hi,
18330868k buffers
158556k

B.8%si,
cached

COMHMAND
flush-8:8
init
kthreadd
migration/®
ksoftirqd/®
stopper/8
watchdog/@
migration/1
stopper/1
ksoftirgd/1
watchdog/1
migration/2
stopper/2
ksoftirqd/2
watchdog/2
migration/3
stopper/3




*Hl22[of] et o Xt HEE free BE2E EM5= A0| ECL
[FootElocalhost ™]# free

total used shared buffers cached
Hem: 8193176 1817116 F1760608 256 184380 168168

-/+ buffersicache: 672568 5720608
Suwap: 16777212 [B] 16777212

total : & 22|

used : AF&S 2l HEE|

free : AHE 7ts OIZ22|

-/+ buffer/cache: buffer?l cacheO| & HZZ|E Mot AFEEHL, buffer?t cachelf 2 E HEZE|E
et o MZ2[E LIEHACE buffer?t cachel| SEE MZ2[= AKNEX| CHA| ZFFLCEH

= e 22|07 IjZ0f off HZ2Z2 Bt ECf

Swap : freeZt 00| 7MItE1t SAIO| swapE AHESICHH Ojze2| SH42 1nd.
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[FootElocalhost ™~]# df -h
Filesystem Size Used i Mounted on
fdev/sdald 146 6.9G - !

tmpfs 3.96 a - fdev/shm
fdev/sdat 48EH 186M

df 3F0= TE[M B 37|t A8 7tset 8FS ¥o{ECL
*ef AHE Thse EF0| 2Lt C|230| ol S7t0| §ltt= BIAIX|Z; L2t

o o
df -i HHOE AHSI0] inode?l Full Q1X| Z2+QISHLt,

OiE[Mel LTS EO0jEL) OR2E EOUX| H2 TE[ME ZF5I0]
2E =25t HCHE of2iet 20| fdisk -| FEOIS O[S THLt.

Disk /deuvfsda: 32.2 GB, 32212254720 bytes

64 heads, 32 sectors/track, 38728 cylinders

Units = cylinders of 2848 = 512 = 1048576 bytes
Sector size (logical/physical): 512 bytes f 512 bytes
I/0 size {(minimumfoptimal}): 512 bytes 7/ 512 bytes
Disk identifier: 6:088811987

Device Boot sStart End Blocks System
fdevu/ssdat * 2 513 L2h4288 Linux
Partition 1 does not end on cylinder boundary.
fdevfsdaz 514 16897 16777216 Linux swap / Solaris
Partition 2 does not end on cylinder boundary.
fdev/sdal 16898 38728 14154752 Linux
Partition 2 does not end on cylinder boundary.
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